A X = {alxis AR5 o ishe] x oA X 2] 94 f = 4
5 =2 W, £(1)+ £(3) + F(5) + - + £(19) o] %

s

ne
o

—C

@® 100 @ 50 ® 38 @ 20 ® 10



sholat,

9 Asg 7

2~
s

71A]

CF-
=



mi

TR

2x=5(x>1) 9

@ y=2x-5(x2>1)

®y=2x-5



(fof)a)Q B2 GuilZ?
YA ez
dr=-==-"7 “1) =)
cFp----- L -+
af - —4|— : :
oy _— L
a b de T
@ b ® ¢ @ d

T}



(x) = lole] 5 A% g, b o Bt fla+b) = f(a) + f(b)
ZA7Ie olefst 48 theol A T2

@ f(x) = I @ f(x) = -2
® fl(x) = 3x @ flx)=2x+3



A x,yoll tiske] f(xy) = f(x)f(y)©l
o] 3r-& Fatofzat.

D
=%

a

f7t



5 f(x) = —x+a, g(x) = ax+ b o Hote] (fog)(x) =2x -4

S
=]

i, ab ©f k2 Antl7F?

=

=

o]
=

® -2 @ -3 ® -4 @ -5 ® -6



8. AaAA] AR A R 2] A w4 7, g, h ol Tsto] (hog)(x) =
Bx 4. f(x) =22 D, (ho(gof))2) o && Fotodet.

D L
-



TR

op

= o <

K8 o o

N

=

[5e]

(8]

o






sfeq -1

ax+3 °f o

= f(x)

oA

@ 2 ® 3

@1



{=1, 0, 1}l Histe] bz H7] & &= f: X=X = 713t

Ze 7H;%5ﬂ 7HQ17F?
H7]
Q@ f(x)=-x O f(x)=x* © f(x) =1
® f(x)=- @ f(x)=+x
@ 174 @ 27 ® 371 @ 47 ® 571



13.

[

30 o 0}‘11

v

I

516

0|

i}

-3,
139

oy I

L

N,

(%)

I

ohd £

:x—|—
+=a’l

X, vol diste] XA v 29 @4 ()
5 ofl Tste] £ = g W, oIS x7}
oltk. a9 ghe Fotolet

A~
e



(1,23, 4,5,B={-10 1}t T4+ f: A - B
Fol, £(1)£(2)£(3)f(4)f(5) =0 Q1 &= f & /W& -5t



15.

x+k glx) =x*+1°] tsto] fog=gof 7t
k °] k& Astoiet.



16.

B4 () = g+ 2 9 ool B4 g()7F (g0 /)(x) = 22— + 3
2 WEd o, g(x) & FotH?

@ g(x) =2x%>-12x+ 15 @ g(x) =-2x>+12x+ 15

® g(x) =2x% - 14x+ 15 @ g(x) = —4x? +14x+ 15

® g(x) =4x® - 14x+ 15



® 2

1



1_—'_.
-

ol

Q Alx) =
© fulx)

)

(fuicr 0 f1)(x)(n = 2,3,4,-

P (H x#-1)

o
—

o] Wi, faoor(2) & Ak

@ 2

— |



o

ol

ol

@1 ® 2 @ 3 ® 4

@ o



FEP7E f(x) = ax+2, g(x) = bx+c 2 F01A W, 71(2) =3,
3

)
(x): x—2%?l—é—a}%a9/]%)‘—%?

3 ! 3 5
i 95 @ 95



